Chabot-Las Positas Community College District



Bill To:

Chabot-Las Positas Community College District 7600 Dublin Blvd, Third Floor Dublin, CA 94568 Attn: Vice Chancellor Owen Letcher **Deliver To:**

Chabot-Las Positas Community College District 5860 Owens Drive Third Floor Pleasanton, CA 94566 Attn: Julia Dozier Quote Provided By:

Victoria Serr Workplace Consultant Vangard Concept Offices 6800 Koll Center Pkwy Ste 100 Pleasanton, CA 94566

Chabot-Las Positas Community College District

Qty	Description	Sell	Ext Sell
2	TVCC Reception Cameo Single Seat with Dual Arms	\$1,009.00	\$2,018.00
1	Tobias Coffee Table	\$550.00	\$550.00
1	Cameo Three Seat Sofa with Dual Arms	\$2,592.00	\$2,592.00
1	OSHA Reception Cameo Three Seat Sofa with Dual Arms	\$2,592.00	\$2,592.00
3	Cameo Single Seat with Dual Arms	\$1,009.00	\$3,027.00
1	Tobias Coffee Table	\$550.00	\$550.00

Qty	y Description	Sell	Ext Sell
1	Tobias End Table	\$380.76	\$380.76
2	TVCC Collaboriation Trestle Sofa-Wood Base	\$2,653.52	\$5,307.04
2	Trestle Lounge Chair-Wood Base	\$1,857.38	\$3,714.76
2	Slice Table 24 dia x 22 1/2 H	\$1,155.94	\$2,311.88
2	Elevator Lobby Salon Lounge Chair Open Wood Back	\$1,750.78	\$3,501.56
1	Salon Lounge Chair Closed Uph Back	\$1,828.13	\$1,828.13
1	Slice Table 18 dia x 22 1/2 H	\$1,037.81	\$1,037.81
2	Administration Collaboration Salon Sofa Closed Uph Back	\$2,872.86	\$5,745.72

Qty	Description	Sell	Ext Sell
4	Salon Lounge Chair Open Wood Back	\$1,750.78	\$7,003.12
2	Slice Table Oval 54-1/4Wx241/4Dx16-5/16H	\$1,510.31	\$3,020.62
1	B304 Senior Manager Office 30 x 72 Desk with Recessed Modesty and F/F Pedestal, 24 x 60 Worksurface with Height Adjustable Base and B/F Pedestal	\$2,147.81	\$2,147.81
1	Bookcase, 18"d x 36"w x 28"h	\$324.09	\$324.09
1	B304 Senior Manager Office Round Meeting Table - Four-Point Base 36" Dia. (1-3/16")	\$309.41	\$309.41
1	Novo, Highback, Mesh Back, Standard Synchro, Height Adjustable Arms	\$351.50	\$351.50
2	Taiga Wood Guest Chair, Integrated Arms, Upper Back Upholstered	\$534.55	\$1,069.10
1	B305 Senior Manager Office 30 x 72 Desk with Recessed Modesty and F/F Pedestal, 24 x 60 Worksurface with Height Adjustable Base and B/F Pedestal	\$2,147.81	\$2,147.81

Qty	Description	Sell	Ext Sell
1	Bookcase, 18"d x 36"w x 72"h	\$414.57	\$414.57
1	B305 Senior Manager Office Round Meeting Table - Four-Point Base 36" Dia. (1-3/16")	\$309.41	\$309.41
1	Novo, Highback, Mesh Back, Standard Synchro, Height Adjustable Arms	\$351.50	\$351.50
2	Taiga Wood Guest Chair, Integrated Arms, Upper Back Upholstered	\$534.55	\$1,069.10
1	B306 Senior Manager Office 30x72 Desk with Recessed Modesty and F/F Pedestal, 30x60 Worksurface with Height Adjustable Base and B/F Pedestal	\$2,147.81	\$2,147.81
1	Bookcase, 18"d x 30"w x 72"h	\$397.41	\$397.41
1	B306 Senior Manager Office Round Meeting Table - Four-Point Base 36" Dia. (1-3/16")	\$309.41	\$309.41
1	Novo, Highback, Mesh Back, Standard Synchro, Height Adjustable Arms	\$351.50	\$351.50

B306 Senior Manager Office

Qty	Description	Sell	Ext Sell
2	Taiga Wood Guest Chair, Integrated Arms, Upper Back Upholstered	\$534.55	\$1,069.10
1	B307 EDC Reception Salon Sofa Closed Uph Back	\$2,872.86	\$2,872.86
2	Salon Lounge Chair Open Wood Back	\$1,750.78	\$3,501.56
1	B307 EDC Reception Salon Lounge Chair Open Wood Back	\$1,750.78	\$1,750.78
1	Slice Table Oval 54-1/4Wx241/4Dx16-5/16H	\$1,510.31	\$1,510.31
1	Slice Table 24 dia x 22 1/2 H	\$1,155.94	\$1,155.94
1	B308 Private Office 30x84 Desk with Recessed Modesty and F/F Pedestal, 30x60 Worksurface with Height Adjustable Base and B/F Pedestal, 54x10 Modesty Panel	\$2,238.27	\$2,238.27
2	Storage Cabinet - Solid Doors, 24"d x 36"w x 28"h	\$356.98	\$713.96

Qt	ty	Description	Sell	Ext Sell
1	1	Lateral File, Two Drawers, 24"d x 30"w x 28"h	\$382.56	\$382.56
2	2	Lateral File, Two Drawers, 24"d x 36"w x 28"h	\$409.35	\$818.70
1	1	B308 Private Office Novo, Highback, Mesh Back, Standard Synchro, Height Adjustable Arms	\$351.50	\$351.50
1	1	Soft Square Canteen Table, Task Height, 48"d	\$395.56	\$395.56
2	2	Zones Club Chair, 4-Wood Legs	\$670.88	\$1,341.76
3	3	Zones Club Chair, 4-Wood Legs	\$670.88	\$2,012.64
1	1	B311 Senior Manager Office 30x72 Desk with Recessed Modesty and F/F Pedestal, 24x60 Worksurface with Height Adjustable Base and B/F Pedestal	\$2,147.81	\$2,147.81
1	1	Bookcase, 18"d x 36"w x 72"h	\$414.57	\$414.57

B311 Senior Manager Office

Qty	Description	Sell	Ext Sell
1	Round Meeting Table - Four-Point Base 36" Dia. (1-3/16")	\$309.41	\$309.41
1	Novo, Highback, Mesh Back, Standard Synchro, Height Adjustable Arms	\$351.50	\$351.50
2	B311 Senior Manager Office Taiga Wood Guest Chair, Integrated Arms, Upper Back Upholstered	\$534.55	\$1,069.10
1	B312 Senior Manager Office 30x72 Desk with Recessed Modesty and F/F Pedestal, 24x60 Worksurface with Height Adjustable Base and B/F Pedestal	\$2,147.81	\$2,147.81
1	Bookcase, 18"d x 36"w x 72"h	\$414.57	\$414.57
1	B312 Senior Manager Office Round Meeting Table - Four-Point Base 30" Dia. (1-3/16")	\$297.00	\$297.00
1	Novo, Highback, Mesh Back, Standard Synchro, Height Adjustable Arms	\$351.50	\$351.50
2	Taiga Wood Guest Chair, Integrated Arms, Upper Back Upholstered	\$534.55	\$1,069.10

C311 Senior Manager Office

Qty	Description	Sell	Ext Sell
1	30x72 Desk with Recessed Modesty and F/F Pedestal, 24x60 Worksurface with Height Adjustable Base and B/F Pedestal	\$2,147.81	\$2,147.81
2	Lateral File, Two Drawers, 18"d x 30"w x 28"h	\$448.93	\$897.86
1	*Includes (larger) Storage Top for Side by Side Bookcase, $18"d \times 30"w \times 72"h$	Lateral Files \$397.41	\$397.41
1	C311 Senior Manager Office Novo, Highback, Mesh Back, Standard Synchro, Height Adjustable Arms	\$351.50	\$351.50
1	Round Meeting Table - Four-Point Base 30" Dia. (1-3/16")	\$297.00	\$297.00
2	C311 Senior Manager Office Taiga Wood Guest Chair, Integrated Arms, Upper Back Upholstered	\$534.55	\$1,069.10
1	D306 Senior Manager Office 30x72 Desk with Recessed Modesty and F/F Pedestal, 24x60 Worksurface with Height Adjustable Base and B/F Pedestal	\$2,147.81	\$2,147.81
1	Lateral File, Two Drawers, 18"d x 36"w x 28"h	\$493.74	\$493.74

*Includes Storage Top for One Lateral File

Qty	Description	Sell	Ext Sell
1	Bookcase, 18"d x 30"w x 72"h	\$397.41	\$397.41
1	Novo, Highback, Mesh Back, Standard Synchro, Height Adjustable Arms	\$351.50	\$351.50
1	<u>D306 Senior Manager Office</u> Round Meeting Table - Four-Point Base 36" Dia. (1-3/16")	\$309.41	\$309.41
2	Taiga Wood Guest Chair, Integrated Arms, Upper Back Upholstered	\$534.55	\$1,069.10
6	D312 Conference Room Fixed C Leg Table 24"d x 72"w	\$376.11	\$2,256.66
1	24"d x 84"w x 29"h Custom Credenza with 6 doors and adjustable shelves	\$2,193.33	\$2,193.33
16	Novo, Midback, Mesh Back, Standard Synchro, Fixed Task Arms	\$329.27	\$5,268.32
1	10% Contingency Line 10% Contingency Line	\$10,521.66	\$10,521.66

Subtotal: \$115,738.32

	Qty	Description	Sell	Ext Sel
	1	Freight	\$7,529.20	\$7,529.20
	1	Non-Union labor to deliver and install during normal business hours. One trip to site. Pricing assumes the use of a freight elevator and that space will be free and clear of other trades and personal items.	\$9,857.61	\$9,857.61
	4	Design Hours	\$85.00	\$340.00
	3	PM Hours	\$85.00	\$255.00
Subtotal:				\$17,981.81
		Sales Tax for Pleasanton, CA 9.25%	\$12,369.11	\$12,369.11
Project Total:				\$146,089.2

	Qty	Description	Sell	Ext Sell
Approved By:	Print Name		Date:	-
	Signature		PO#:	-
	T REQUIRED	S FOR ORDERS OVER \$5,000.00 IDITIONS ON FILE WITH VANGARD CONCEPT OF	FICES	

PLEASE MAKE ALL REMITTANCES PAYABLE TO: VA

VANGARD CONCEPT OFFICES 2150 N. FIRST ST. STE 100 SAN JOSE, CA 95131

WE GLADLY ACCEPT VISA, MASTERCARD OR AMERICAN EXPRESS
PLEASE NOTE THAT A 3% TRANSACTION FEE WILL BE ADDED TO YOUR TOTAL BALANCE

THANK YOU FOR YOUR BUSINESS!